

18/03/2020

IKESIANO - USJ DIVIDE

18/ETG091047

COMPUTER ENGINEERING

Soln

$$1) \quad x \frac{dy}{dx} = x^2 + 2x - 3$$

$$\frac{dy}{dx} = \frac{x^2 + 2x - 3}{x}$$

$$\frac{dy}{dx} = x + 2 - 3x^{-1}$$

$$dy = (x + 2 - 3x^{-1}) dx$$

$$\int dy = \int (x + 2 - 3x^{-1}) dx$$

$$y = \frac{x^2}{2} + 2x - 3 \ln x + c$$

$$2) \quad \frac{dy}{dx} + 2y = e^{3x}$$

$$\frac{dy}{dx} + Py = Q$$

$$P = 2$$

$$\int P dx = 2x$$

$$I.F = e^{\int P dx} = e^{2x}$$

$$y \cdot I.F = \int Q \cdot I.F dx$$

$$y \cdot e^{2x} = \int e^{3x} \cdot e^{2x} dx$$

$$y \cdot e^{2x} = \int e^{5x} dx$$

$$y \cdot e^{2x} = \frac{e^{5x}}{5} + c$$

$$y = \frac{e^{5x}}{5e^{2x}} + \frac{c}{e^{2x}}$$

$$y = \frac{e^{3x}}{5} + \frac{c}{e^{2x}}$$

$$1) \frac{dy}{dx} + \frac{y}{x} = y^3 \implies \frac{dy}{dx} + Py = Qy^n$$

Dividing through by y^3

$$y^{-3} \frac{dy}{dx} + \frac{y^{-3}}{x} = 1$$

$$z = y^{1-n} = y^{1-3} = y^{-2}$$

$$\frac{dz}{dx} = -2y^{-3} \frac{dy}{dx}$$

Multiplying through by -2

$$-2y^{-3} \frac{dy}{dx} - \frac{2y^{-3}}{x} = -2 \implies -2y^{-3} \frac{dy}{dx} - \frac{2y^{-2}}{x} = -2$$

Since $\frac{dz}{dx} = -2y^{-3} \frac{dy}{dx}$ and $z = y^{-2}$

$$\frac{dz}{dx} - \frac{2z}{x} = -2$$

$$I \cdot IF = \int Q \cdot IF \, dx$$

$$P = \frac{-2}{x}$$

$$\int P \, dx = -2 \ln x$$

$$IF = e^{\int P \, dx} = e^{-2 \ln x} = \frac{1}{x^2}$$

$$I \cdot \frac{1}{x^2} = \int -2 - \frac{1}{x^2} \, dx$$

$$I \cdot \frac{1}{x^2} = \int \frac{-2}{x^2} \, dx$$

$$I \cdot \frac{1}{x^2} = \int -2x^{-2} \, dx$$

$$I \cdot \frac{1}{x^2} = \int \frac{-2x^{-2+1}}{-2+1} + C$$

$$I \cdot \frac{1}{x^2} = 2x^{-1} + C$$

$$z \cdot \frac{1}{x^2} = \frac{1}{2x} + c$$

$$z = \left(\frac{1}{2x} + c \right) x^2$$

$$z = \frac{x}{2} + cx^2$$

$$y^{-2} = \frac{x}{2} + cx^2$$

$$\frac{1}{y^2} = \frac{x}{2} + cx^2$$

$$y^2 = \frac{2}{x} + \frac{1}{cx^2}$$

$$4) \quad x^2 \frac{dy}{dx} = x^3 \sin 3x + 4$$

$$\frac{dy}{dx} = \frac{x^3 \sin 3x + 4}{x^2}$$

$$\frac{dy}{dx} = x \sin 3x + \frac{4}{x^2}$$

$$dy = (x \sin 3x + 4x^{-2}) dx$$

$$\int dy = \int (x \sin 3x + 4x^{-2}) dx$$

$$y = -\frac{x \cos 3x}{3} + \frac{4x^{-2+1}}{-2+1} + c$$

$$y = -\frac{x \cos 3x}{3} - 4x^{-1} + c$$

$$5) \quad (x^3 + xy^2) \frac{dy}{dx} = 2y^3$$

$$x(x^2 + y^2) \frac{dy}{2y^3} = dx$$

$$x^2 + y^2 \frac{dy}{2y^3} = \frac{dx}{x}$$

$$\frac{y^2 dy}{2y^3} = \left(\frac{1}{x} - x^2 \right) dx$$

$$\frac{1}{2y} dy = \left(\frac{1}{x} - x^2 \right) dx$$

$$\int 2y^{-1} dy = \int \left(\frac{1}{x} - x^2 \right) dx$$

$$2 \ln y = \ln x - \frac{x^3}{3} + C$$

$$6) \frac{dy}{dx} + y \tanh x = 2 \sinh x \implies \frac{dy}{dx} + Py = Q$$

$$P = y \tanh x$$

$$\int P dx = \int \tanh x dx = \frac{1}{\cosh x} = \ln \cosh x$$

$$I.F = e^{\int P dx} = e^{\ln \cosh x} = \cosh x$$

$$y \cdot I.F = \int Q \cdot I.F dx$$

$$y \cdot \cosh x = \int 2 \sinh x \cdot \cosh x dx$$

$$y \cdot \cosh x = \int \sinh 2x dx$$

$$y \cdot \cosh x = \frac{\cosh 2x}{2} + C$$

$$y = \frac{\cosh 2x}{2 \cosh x} + \frac{C}{\cosh x}$$

$$y = \frac{\cosh^2 x + \sinh^2 x}{2 \cosh x} + \frac{C}{\cosh x}$$
